
 

 

Example #5: 592 & 592-Bs with flow thru withholding only 
Scenario: 

Partnership I withheld on Partnership H, a foreign (non-U.S.) partnership, and Partnership H is flowing the 
withholding through to its partners. Partnership H has 1 foreign partner and 1 resident partner. 

Line 12: Enter the number of Forms 592-B attached for 
the partners who are receiving a portion of the amount 
withheld on Partnership H. Since the credit must be 
allocated to all of your partners according to their 
partnership interest, this number should normally equal 
the number of partners in the partnership.  Do not 
include the Form 592-B that shows the amount of 
money withheld from this partnership. 

Line 13: Enter the amount that was withheld 
by another entity that you are allocating to 
your partners. This amount needs to be 
supported by Form 592-B, 593-B or 594 
from the entity that withheld on the 
partnership. 

For flow thru withholding, complete parts I, III and IV. 



 
 

Tax Withheld By Another Entity 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

This 592-B shows the amount Partnership I withheld 
from Partnership H. This 592-B is completed by 
Partnership I and given to Partnership H. 

Write “Tax Withheld By Another Entity” on the withholding 
document you received from the entity that withheld on you. 
This allows the Franchise Tax Board to easily distinguish this 
Form 592-B, which shows the withholding on Partnership H, 
from the other Forms 592-B showing the allocation of this 
withholding credit to your Partnership H’s partners. 



 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Example # 5:  Partner #1 
Foreign (non-U.S.) partner with a 60 percent interest

Line 1: The total amount subject to withholding should be the total amount subject to 
withholding shown on the Form 592-B given to Partnership H multiplied by the partner’s 
interest in Partnership H. 
 
120,000.00 (Amount subject to withholding shown on Form 592-B given to Partnership H)
x           .60 (Partner #1’s interest in Partnership H) 
  72,000.00 (Amount subject to withholding for this partner) 
 

Line 2: Enter the credit that is allocated to Partner #1 
on line 2. 
 
  8,400.00 (Total amount withheld from Partnership H)
x         .60 (Partner #1’s interest in Partnership H) 
  5,040.00 (Total CA tax withheld for this partner) 



 

Example #5:  Partner #2 
Resident partner with a 40 percent interest 

Line 1: The total amount subject to withholding should be the total amount subject to 
withholding shown on the Form 592-B given to Partnership H multiplied by the partner’s 
interest in Partnership H. 
 
120,000.00 (Amount Subject to Withholding shown on Form 592-B given to Partnership H) 
x           .40 (Partner #2’s interest in Partnership H) 
  48,000.00 (Amount subject to withholding for this partner) 

Line 2: Enter the credit that is allocated to Partner #2 
on line 2. 
 
  8,400.00 (Total amount withheld from Partnership H)
x         .40 (Partner #2’s interest in Partnership H) 
  3,360.00 (Total CA tax withheld for this partner) 


